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1) Determine the equation of the line that passes through the points
F(-1, -4) and G(1, -5) e ( \‘
" \’0 “ Vo (Leave the answer in Ax + By + C =0) '5-

Skp use Slope and 0"‘
==y ———\




W a F m u 'p Solutions
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1) Determine the equation of the line that passes throught the points F(-1, -4) and G(1, -5)

(Leave the answer in Ax + By + C =0)

Step 1
Step 2 B
m=ys -y m_% (.-
X2 - Xg
y- y1=m(x-x,)
= (-5) - (-4)
(1) - (-1) y- (-5) =-L(x-1)
2 multiply the number in
= (_5 ) + 4 front of the bracket through
—— the bracket
(= y-(5)=dx+1
=_1] 2 2
2 y+5 =-1x+1
2 2

To remove the fraction, multiply all terms by 2

[\

(2)y+§2= 1%+ 1@

2 2
2y+10 =2x +2
2 2

simplify fraction

2y+10 =-1x + 1
Rearrange for Ax + By +C=0
2y+10 =-1x + 1

X\$ X\

IyH10 =-1%+ 1

Ix+2y + 11 =0
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